= AH O
N = 0 &8 AF S & Al A
2010 = 20A LBHSIH OIS XD ~ OISR &
A FOIMET S
2 NAASEX KA (MESX/EHSHSKS)
R XA EX ST (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
FOIMET 25,992,643 23,726,104 2,266,539
= 13,692,219
z 500,000
p) 182,410
= 860,295
< 3,137,415
= 7,620,304
KAAZEX XN (ASEX/FHAHSKH) 153,403 147,334 6,069
= 68,378
iy 85,025
KA 2SS 153,403 147,334 6,069
= 68,378
= 85,025
KA SX 2 =& 14,470 23,484 N9,014
201 dBr24 | 9,870 11,484 AN1,614
01 AF222|H] 9,870 11,484 A1,614
OXNEAMNE=SXNEAMEE 70,0003 *17H x33] 3,570
OEMADE L AMREE  180,0008*105x33] 5,400
OXNgAEEX2E 2T K0
900,000 *13] 900
202 OfHl 3,600 3,600 0
01 2o Y| 3,600 3,600 0
SHAHI 3,600,000& 3,600
405 XHiHESHI 1,000 8,400 A7,400
01 MRS EFHSH| 1,000 8,400 AT7,400
OoxZgg>z¢ 1,000,000 *1CH 1,000
X AFS M HIAE XA 97,683 109,600 A11,917
= 68,378
= 29,305
307 CI2t0IA 97,683 109, 600 A11,917
= 68,378
= 29,305
05 QIZtRAEZ 97,683 109,600 A11,917
OXNAAZMHIASEXAIY 16,280,500 «6I1 A 97,683
= 68,378
iy 29,305
220185 3,250 3,250 0
301 2EtEAZ 3,250 3,250 0
01 MIBIEE A 452 3,250 3,250 0
O#la4 Xt Mol 20,0002 100 2,000
O8iA AP X ZHAIbI 250, 000! 57 1,250
Mo+ 8,000 9,000 A 1,000




DO ENT R

M XAASIEX K (AMS2X/HAHESK )

? NEAZ =S

_ _ _ Muo
SA - EE L SR(E) - MRAY - HAS Aboy e HlnE2
201 LetEdH| 8,000 9,000 A 1,000
01 AtSR2t2ldl 8,000 9,000 A 1,000
Ol z288 =X 50,000& =160 8,000
NAAMNS=XNHE =& 30,000 0 30,000
207 AN 30,000 0 30,000
01 22E 4| 30,000 0 30,000
ORI291 XIS AFSI= X H 2 (2011-2014) 42
30,000, 000& *14] 30,000
20t BE NJ(MSI=X/BE 37,780 82,780 245,000
ItEE el ¥ K& 37,780 82,780 245,000
22 @A F& 20,500 25,500 25,000
301 LetB A= 12,000 12,000 0
01 AlRIEEE x5S 3,000 3,000 0
OMASE ZIREX 200,000& «15% 3,000
10 EALAHIBAS 9,000 9,000 0
O4.19=8 A A 50,0003 x23% 1,150
Os=sd 282X 50,0003 46 % 2,300
OZsE#MAL AL 50,000& x6H 300
Ooe=9 g d&EX 35,0003 =150 5,250
307 212t01H 8,500 13,500 25,000
04 QIHHALE X 8,500 13,500 25,000
OSSLHA 8,500,000 *13| 8,500
INE=2UHLEA BEEE 17,280 17,280 0
301 Et24 = 17,280 17,280 0
01 AISIEE " =03 17,280 17,280 0
OINE=UAR &
30,0003 »48H 12 17,280
SETM2(AISIS X /I =M 121,219 92,490 28,729
= 92,655
& 11,582
= 16,982
ST SSAL 2 121,219 92,490 28,729
= 92,655
= 11,582
= 16,982
| JNPAL:] 115,819 86,490 29,329
= 92,655
& 11,582
= 11,582
301 LptEaag 115,819 86,490 29,329
= 92,655
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el
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EURGH

11,582
11,582

=
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1,286,877. 7390

W

115,819
115,819

92,655
11,582
11,582

86,490

29,329

0z
-
O
il
P

=

5,400

6,000

2600

o
M0
02

e
F

3,000

3,600

A 600

=

O

om o
o e
B

> ol

b AP 2teld]

3,000
3,000

3,600

A600

2,400

2,400

O =
M =) =
2

2 =

=5

2,400
2,400

2,400

]
H
04

(MBI=ZRI/JI =4

M

4,788,789
3,591,595
451,833
745,361

4,767,141

21,648

W

4,788,789
3,591,595
451,833
745,361

4,767,141

21,648

MW

3,394,078
2,715,262
339,408
339,408

3,159,097

234,981

H MW

3,394,078
2,715,262
339,408
339,408

3,159,097

234,981

150,606.9& *1,878& 123

M

3,394,078
3,394,078

2,715,262
339,408
339,408

3,159,097

234,981

M

841,739
673,391
84,174
84,174

968,225

N 126,486

MW

734,489
587,591
73,449
73,449

863,225

N128,736

34,136.873x1,793F 128

734,489
734,489

863,225

N 128,736




SA DM
e 2017
ool HAS (B9 &2
5 o SIEN
2N CEHRI(BIH) - HIRAY - B il i~ o Hm=2
= 567,501
= 73,449
2 73,449
307 107,250 105,000 2,250
= 85,800
= 10,725
2 10,725
05 107,250 105,000 2,250
1,650,0002 x657} 72 107,250
= 85,800
= 10,725
2 10,725
DS 153,977 122,305 31,672
= 123, 181
= 15,398
2 15,398
301 153,977 122,305 31,672
=2 123, 181
= 15,398
2 15,398
I 153,977 122,305 31,672
152, 1512 %253 +43] 153,977
=2 123, 181
= 15,398
2 15,398
oAt 17,144 27,100 ~9,956
= 13,716
= 1,714
2 1,714
301 17,144 27,100 ~9,956
= 13,716
= 1,714
2 1,714
01 L3l 17,144 27,100 £9,956
489,808 %3584 17,144
= 13,716
= 1,714
2 1,714
AL 23,987 4,376 19,611
= 19,189
= 2,399
2 2,399
201 2,219 436 1,783
= 1,776
= 221
2 222
01 A2 2,219 0 2,219




SA: Z0IMET 2D
Mz )| ZMEZI(AMIEXN /I =MEEE)
G HASE JIZMSSE EE R
_ _ bolEN=
2N -3 - c2(3H) - NEME - HES Of A oH @;OH Hon=s2t
OXtAt?] 2= S0IX| & EHti]
2,210 %1,004H 2,219
= 1,776
[~ 221
= 202
301 Yt A2 21,768 3,940 17,828
=2 17,413
[~ 2,178
= 2,177
01 ALBIBEELH 2 21,768 3,940 17,828
Oxtatel etz sl 1 21,68120%1,004Z 21,768
=2 17,413
[= 2,178
= 2,177
NASETE MU nexe 15,400 15,400 0
[ 5,775
=2 9,625
301 Yt A2 15,400 15,400 0
< 5,775
= 9,625
01 ABIBERAGH2 15,400 15,400 0
OMASZE =101 MUWI| DEXHA(7T7H)
19,250,000 80/ 100 15,400
< 5,775
=2 9,625
KE a2 29,646 30,754 A1,108
= 23,717
[= 2,965
= 2,964
301 Y A2 29,646 30,754 A1,108
=2 23,717
[= 2,965
= 2,964
01 ALBIBE =452 29,646 30,754 21,108
OXte&H2 X 17,6422 %21 « 122 29,646
=2 23,717
[= 2,965
2 2,964
NASE S8R5 171,600 171,600 0
301 Yt A2 171,600 171,600 0
01 MBIBER2F2 171,600 171,600 0
OMASES SE€RSH|
100,000 1430t 2+ 121 171,600
NASE SAIREH| 20,000 20,000 0
301 Yt A2 20,000 20,000 0
01 ASIBEEAGH2 20,000 20,000 0




SN EOIMBIAD
o RO ZMBRH(AS =X /I ZYEET)
o9 HASS JIZME2E (25l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O AF o8 il i~ o bRz
OMASE SATEH 200,000 *50H) =23l 20,000
HASE2H0I 5 S| 1,500 3,000 A1,500
301 LBBAI 1,500 3,000 A1,500
NI EEEERETE 1,500 3,000 A1,500
OHASE 2SS HSH 300,008+ 1,500
INE4SH 2L2ALX 10,000 10,000 0
402 Q12X 20IH 10,000 10,000 0
01 PIAX=EE 10,000 10,000 0
OJI=4+S MO 2Ll X 500,0008 =20 T4 0,000
HASE AZ24NE A 20,000 20,000 0
307 L1201 H 20,000 20,000 0
05 QI2r9IEra 20,000 20,000 0
OMASE 2324002, #IIS)
500, 0002 #4077 20,000
INE4SX YRAYIXE 5,000 5,000 0
307 QI2H0|H 5,000 5,000 0
NIEEEEET 5,000 5,000 0
OJE43TT LAY ¥ 250,008 +20% 5,000
HASFEO 2LAYLHE N 30,000 30,444 A444
01 LsrE A 30,000 30,444 A444
NIREEEPETE 30,000 30,444 A 444
OMASFO 2LALLEE X &
5,00021 5002 * 128 30,000
HASS o2y Jl=2 8,440 6,320 2,120
201 LByl 3,940 4,320 A380
01 At 2,620 4,320 A1,700
OMEEIIRE 4T 70,0002 +6 % *33] 1,260
OZRIE EH % ASSETY 170,002 +83l 1,360
02 IT2YH| 1,320 0 1,320
OJIZ8X ZrIY |XP4
1,320,00024*13] 1,320
202 Oft] 4,500 2,000 2,500
01 =2Uioibl 4,500 2,000 2,500
OZ 01| 4,500,0002! 4,500
MESNESHEA BEQ8 X2 46,278 0 46,278
= 23,139
2 23,139
101 124yl 46,278 0 46,278
= 23,139
2 23,139

|
[0}
|




SA: FOMEBIADL
HE: RO ZMES(AMSZX/IZMEEH)
CHel: HASE JZMEER EERE
_ _ pSNE e
SM-BH-H2A(FAH) - MIRAY - BES 01l A+oH @Egj Hns2
04 JIZHM22NEES 46,278 0 46,278
OMBIZXESHEIA B2 012H| 46,278
-2 1,357, 166.6% 128 x2% 32,572
= 16,286
2 16,286
— ==y 110,000 122 %22 2,640
= 1,320
2 1,320
== 141,6202 * 122 x2% 3,399
= 1,699
2 1,700
—20012 46,278,0002 *4. 5% 2,083
= 1,042
2 1,041
—AARE 46,278,0002 *2.54% 1,176
=2 588
2 588
—LOIRI QUL 1,176,000 4. 78% 57
=2 29
2 28
-n1828 46,278,000 *7% 3,240
= 1,620
2 1,620
— A EE 46,278,000 *2. 4% 1,111
= 555
2 556
HASE MEBOFNA(ASZX/IIZHEEH) 1,768,281 1,422,839 345,442
=2 1,343,254
[ 159, 134
2 265,893
X2 x| 2 1,480,464 1,039,268 441,196
= 1,182,211
[ 146,247
2 152,006
K22 A 1,448,964 1,035,068 413,896
= 1,159,171
[ 144,897
2 144,896
201 g2 25,164 20,800 4,364
= 20,131
= 2,517
2 2,516
01 A2 22l 13,962 11,100 2,862
ONE22AY AIREE 22 100,0002 *403] 4,000
=2 3,200
[ 400
2 400




A FOIMET S
M. HASS MM (ASSX /I ZHEEE)
el KtEX (Gte:dS)
_ _ HET
2AH -3 - SH2A(SH) - MEAMY - BHES 0] AFCH loﬂ/l\_“’” Hns
OXNEZZAIY 29(59H)
25,000& *7H A x56.9253] 9,962
= 7,970
& 996
o 996
02 S=2494| 11,202 9,700 1,502
OXEZZAIY AMHEER2
266,700,000& *4.2% 11,202
= 8,961
== 1,121
iy 1,120
301 2EtE A2 266,700 184,268 82,432
= 213,360
== 26,670
iy 26,670
12 JIEtE A2 266,700 184,268 82,432
OXEZZAG(FZE) B4
21,000& *100Y¥ x127 3] 266,700
= 213,360
== 26,670
iy 26,670
307 212t01 A 1,157,100 830,000 327,100
= 925,680
= 115,710
iy 115,710
05 QIZHREZ 1,157,100 830,000 327,100
OXEZZ2 AL (up—graded ) Q1 21 H|
29,000& »150H 266 1,157,100
= 925,680
== 115,710
iy 115,710
=32 A 2HHHFSAA 2,700 4,200 A 1,500
= 1,350
iy 1,350
301 2EtEAZ 2,700 4,200 A 1,500
== 1,350
iy 1,350
01 M2 E G2 2,700 4,200 A 1,500
Ox=3X 2835 FSXH(9Y)
5,400,000 *50/100 2,700
& 1,350
iy 1,350
SIYIN=SEE NA 28,800 0 28,800
= 23,040
o 5,760
301 2EtEAZ 28,800 0 28,800
= 23,040
o 5,760

|
oo
|




SN FE0IMEX D
HE: HASE MBUINA(NSZK/IIEZLBLE)
el TEx e cHol: & 2
_ _ _ Muo
A B3 C9(30) - MRAY - B2 Ao il b o B2
01 AtEI B X453 28,800 0 28,800
OsYISSH 300, 0002 *88 x 122 28,800
= 23,040
2 5,760
NATEME 2% 287,817 383,571 ~95,754
= 161,043
= 12,887
2 113,887
N HE 29 174,430 171,188 3,042
= 122,101
2 52,329
307 212+0IH 174,430 171,188 3,042
= 122,101
2 52,329
RN EES 174,430 171,188 3,242
OXNSXEME 2 174,430,00020 17§ £ 174,430
=2 122,101
2 52,329
NATBHEH SAL SE2 7,920 7,920 0
= 2,376
2 5,544
307 212+0IH 7,920 7,920 0
= 2,376
2 5,544
02 PIHBAEE 7,920 7,920 0
ONSXEME BAX SE2Y
132,000 %52 + 122 7,920
= 2,376
2 5,544
ZZCYWIAY 8,330 8,330 0
= 2,500
2 5,830
307 2I2t0IH 8,330 8,330 0
= 2,500
2 5,830
VETEPEES 8,330 8,330 0
OJEZCWIANY 8,330,000 17§ 4 8,330
= 2,500
2 5,830
JHAF.2HY SR E 20| A 55, 137 196,133 A140,996
= 38,942
= 4,411
2 11,784
307 212+0IH 55, 137 196,133 A140,996
= 38,942
= 4,411

<o)




SN

=
- =
I HASES MBI (MS=X/IIZMBBE)
=

&2 XX A —‘i—g (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
= 11,784
05 DI2t9Ieta 55,137 196,133 140,996
OJtAL. 2t gE2E<00 X
30,000& 30L& *61.2633] 55,137
= 38,942
[ 4,411
2 11,784
ZoONRY 30,000 0 30,000
307 212t01& 30,000 0 30,000
05 RIZt9IEr3 30,000 0 30,000
OFco 29 30,000,000 *14! 30,000
AT eIA X2 12,000 0 12,000
[ 3,600
2 8,400
307 QI2H0IA 12,000 0 12,000
[ 3,600
= 8,400
02 UAHATZ 12,000 0 12,000
OXrgtLXtel At 0 A Atell 2tel
1,000,0009 %12 * 124 12,000
[ 3,600
i 8,400
ZONUSXNSH (M SR /HAAHNS K 2) 2,214,980 2,136,908 78,072
= 700,751
= 293,314
[ 642,652
2 578,263
ZOHQl MEOHE X 1,079,476 1,097,381 A 17,905
= 700,751
[ 126,208
2 252,517
Ols=2=xeE=2Y 10,300 10,300 0
307 212t01& 10,300 10,300 0
05 BI2t9IEt3 10,300 10,300 0
oolsssiHu2Y 10,300,0002! 10,300
ZoHoI A BAF A 24 9,250 9,250 0
301 YErEA3 9,250 9,250 0
10 SAIAHI &2 9,250 9,250 0
OBMSZHE &4 24 50002200 =23 2,000
OZOHIofY BHAL EA ZaH(22])
50,000 *40% 2,000
O HOHO! MU A A Sat
35,0008 *150% 5,250
ol & A 9,200 0

_10_




A
I‘IiH:
C}—Ol:

04 03
2218
ro 1o 0z
o _|H[ mlo|-

0|>| HO

0

=
x|
&

L(ALSI S XI/FH2AAH S

e

2oty A&

X))

SRA(SAH) - MEAY - HES

[
2

20
B
2

9,200

9,200

£ (2

Im

1+ =z

oo >

O

>
H
P

T
0z

2
e
=
0z
oy
it

2,000, 000& 14
20,0003 300
200,000 6

9,200
2,000
6,000
1,200

9,200

- | 10 O

0
2
1
on

]

M

430,577
301,404
43,058
86,115

638,058

A207,481

W

430,577
301,404
43,058
86,115

638,058

N207,481

42,015. 7123 +854F 128

MW

430,577
430,577

301,404
43,058
86,115

638,058

A207,481

MW

42,158
29,510
4,216
8,432

42,158

H

42,158
29,510
4,216
8,432

42,158

g = 159,689.39& »22H «128

A

42,158
42,158

29,510
4,216
8,432

42,158

MM

19,331
15,465
1,933
1,933

18,993

338

W

19,331
15,465
1,933
1,933

18,993

338

2221953 87

MW

19,331

19,331
15,465
1,933
1,933

18,993

338

W

372
186

372

_11_




S FOIME XD
B MOHQU=NSA (MBI ZX/HAANSNR) ot am
Sl mojol MEOLY X & el & 2
w)a 5= =2}
SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 Ofl At ot Hwns2
< 93
2 93
301 Yer=aa 372 372 0
=2 186
= 93
2 93
01 AIBIER= 2513 372 372 0
OZHASENCH XIg 16,9002 «222 372
=2 186
= 93
2 93
ZOHQIKHA SHHIXIR 3,341 4,511 A1,170
=2 2,673
= 334
2 334
01 LA 3,341 4,511 A1,170
= 2,673
= 334
2 334
NIEEEERTE 3,341 4,511 A1,170
OB OjIXHA SHHIXIR  208,812.58 x4 »43] 3,341
2 2,673
= 334
2 334
Dol WEREIT DL 1,559 1,057 502
=2 1,247
= 156
2 156
301 YerEaa 1,559 1,057 502
2 1,247
= 156
2 156
NIEEEERE 1,559 1,057 502
OZOHQ MEREIIT D2 103,933 +15% 1,559
2 1,247
= 156
2 156
SOIE FOHQ FWEALY 19,000 19,000 0
=2 9,500
= 3,800
2 5,700
307 2I2H0|H 19,000 19,000 0
= 9,500
= 3,800
2 5,700
05 pl2teIsta 19,000 19,000 0




S EOIMETIR D
A DOJU=RSE (A= /HAHNSKH)
SOl TOHOI MEBOIN X (e @

SNBSS - MEAY - BES

22
J2

=1
R
121

T HO0HQ FEOHZALY

3,800,000 *5All CH

MW

19,000
9,500
3,800
5,700

MW

175,000
122,500
26,250
26,250

200,000

A 25,000

307

H

175,000
122,500
26,250
26,250

200,000

A 25,000

05

O 1.

0z
o

=

~
40

e Jm

lfot

jun
[=}

ts 2 XA

0

A
560,897 x26F « 12

H W

175,000

175,000
122,500
26,250
26,250

200,000

A 25,000

SEX FIXEAMY

EUNCH

5,760

2,304
3,456

5,760

307

Mk

5,760

2,304
3,456

5,760

05

El
ol EsEX FIOINEAE

480,000 x 18128

EURGH

5,760

5,760

2,304
3,456

5,760

W

37,373
26,161
3,737
7,475

24,000

13,373

307

H W

37,373
26,161
3,737
7,475

24,000

13,373

05

e
~
40

O
0
2
o

Jm

on ol

HEXZ ALY
163,916.62 x19E x 123

W

37,373

37,373
26,161
3,737
7,475

24,000

13,373

o

=LK 0!

fusid

SXLiel XA

W
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2,120
3,179

10,598

w
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70,110
35,055
13,720
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70,110
35,055
13,720
21,335

SIXXIEEH =<0

973, 7503 x6H « 123

H W

70,110

70,110
35,055
13,720
21,335
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1,800

540
1,260

Mok

1,800

540
1,260

150, 000& «3H #4323

EURGH

1,800

1,800
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1,260

Ml 1

3,060

918
2,142

M H1
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918
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170,000& «18%

EUNCH
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2,100

—_

e
J2H

=2




A FOIAHET R
M HOHQIZXSH (MG SR /HAHSKR)

SOl TOHOI MEBOIN X (el:@g
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
201 Y2 Y| 3,000 3,000 0
= 900
2 2,100
01 At 3,000 3,000 0
OO H222 2,5002 * 1002 x 122 3,000
= 900
2 2,100
ZOHQISHAS FHSK 2 900 600 300
= 450
2 450
301 YBrBAZ 900 600 300
= 450
2 450
01 APSIEE X253 900 600 300
OB0HY 2HUE S 300,000 *3% 900
= 450
2 450
ZOHl QHMEAIS ML 5,000 0 5,000
402 QIHXH20|H 5,000 0 5,000
01 UAREEE 5,000 0 5,000
OFMSATEH HFEAS K 50,0002 100 5,000
ZOHQ! 5hH 421043l 5,000 0 5,000
307 212+0| & 5,000 0 5,000
04 QISALRE 5,000 0 5,000
O 04Ol &t H =21 CH3| 16,6662 *300%] 5,000
I 215,567 0 215,587
= 150,911
= 21,559
2 43,117
301 YBrEAS 215,567 0 215,567
2 150,911
= 21,559
2 43,117
01 APSIEE X253 215,567 0 215,567
OOl 112,636, 82 *319% *6) 2 215,567
2 150,911
= 21,559
2 43,117
o101 L K| AL LS 1,200 0 1,200
2 840
= 120
2 240
307 2120/ H 1,200 0 1,200
2 840




A
I‘IiH:
C}—Ol:
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=
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L(ALSI S XI/FH2AAH S

ety X3

X))

SRA(SAH) - MEAY - HES

[
2

B
2

=2

EURGH

120
240

05

200,000 x 18«60 =

W

,200
,200

840
120
240

1,200

o el

AZIZ2XAE 2

M H1 A

516

504
293,
444
325,

314

746

1,039,527

95,977

M H1 AD

483,
193,
145,
145,

803
521
141
141

447,090

36,713
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30,000,000 17§ 4 30,000
= 9,000
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OIS (AMBI=R /0 - HAL 9,874,194 10,572, 142 £697,948
2 6,078,984
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= 858,427
2 2,427,402
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= 268,251
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NE-BS 5,994,670 5,496,795 497,875
2 5,415,946
= 15,873
2 462,851
01 YLrBAE 5,994,670 5,496,795 497,875
2 5,415,946
= 115,873
2 462,851
01 ABIBEH X463 5,994,670 5,496,795 497,875
OBELS--F 84,327 4521 %5, 9042 122 5,994,670
2 5,415,946
= 115,873
2 462,851
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= 12,000
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2 30,000
307 BI2HOI 48,000 48,000 0
= 2,000
= 6,000
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02 SIHYABE 48,000 48,000 0
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= 2,000
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2 8,316
307 BI2H0I 11,880 11,880 0
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OLo=Xg& /e2F 236,000,000 14 2 236,000
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= 1,500
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& 1,500
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SOl XA K& 513,070 971,961 A 458,891
= 256,535
& 102,614
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= 105,000
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200,000& *150H 73 210,000
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201 2EtE3| 19,500 49,500 A 30,000
= 9,750
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SAN-ZH-SA(FA) - NFAY - BES Aol Ol AF o8 HwsZ
w03 5,2 23 29|
200,002 *87H 2 81 * 127 19,200
~HRY HYE M2ISE(NYX)
8,000 %2507 2 #1274 2 24,000
NEEE 184,800 100,000 84,800
= 28,440
2 156,360
307 212+0| 184,800 100,000 84,800
= 28,440
2 156,360
02 BIHFABE 184,800 100,000 84,800
OAlLIi 28 180,000,000 #17H A 180,000
= 27,000
2 153,000
OAMLIOI2Y SAR S=E4Z 960,008 +5Y 4,800
= 1,440
2 3,360
SO RAZAIME 2 18,000 0 18,000
= 5,400
2 12,600
307 212+0| 18,000 0 18,000
= 5,400
2 12,600
02 BIAHFNBE 8,000 0 18,000
OLOIRASAME 2SS
18,000,00024 *17H & 18,000
= 5,400
2 12,600
COIEN U QRS 1,193,315 1,656,293 ~462,978
=2 100,000
= 183,937
= 424,180
2 485,198
SHLOFEHSH N 25,000 25,000 0
307 2I2+0I& 25,000 25,000 0
05 DI2t9IEr2 25,000 25,000 0
OFH&ZHM 2,500, 0002 1041 CH 25,000
COIMEALBARSE LY 23,400 33,057 A9,657
= 7,020
2 16,380
307 212H0I 23,400 33,057 A9,657
= 7,020
2 16,380
02 PIAFAEE 23,400 33,057 ~9,657
OLQN2RAABAL SE4Y
50,0002 %398 128 23,400
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S 7,020
= 16,380
COIMEAIEX# 470,871 723,872 /253,001
< 329,609
= 141,262
301 Let2a= 470,871 0 470,871
= 329,609
= 141,262
01 MaIE2EH>63 470,871 0 470,871
OLlMEAld X 470,871,000& 470,871
S 329,609
= 141,262
Mot IS XAIE X 471,103 50,000 421,103
& 183,937
= 47,110
= 240,056
301 et = 471,103 0 471,103
= 183,937
= 47,110
= 240,056
01 MaIE2EH>63 471,103 0 471,103
OMIt==XAIE K& 471,103,000& 471,103
=2 183,937
= 47,110
= 240,056
CelHH A 2,941 3,324 A383
= 441
o 2,500
301 etEd= 2,941 0 2,941
S 441
= 2,500
01 A2 H +06l= 2,941 0 2,941
Okel AZxe X3 34,1902 «86H 2,941
< 441
= 2,500
CeI=XAE JIs 22 200,000 821,040 A621,040
= 100,000
< 40,000
s 60,000
405 XtobE SHI 200,000 0 200,000
= 100,000
S 40,000
= 60,000
01 MM =SFSHI 200,000 0 200,000
OLMERYR JIsEZ(HHIER) 200,000
—o|Z2AHEH| 3,000,000& *315 93,000
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YEYIAAHIX 86,750 83,088 ~1,338
= 10,510
2 76,240
301 LB 86,750 83,088 £1,338
= 10,510
2 76,240
NIREEEPTE 86,750 83,088 A1,338
OF2g 24yl X
106,808. 942 *23] *2467H 2 52,550
= 10,510
2 42,040
OF2Y 24l FIIX&
69,5122 x23| *246H 2 34,200
Azgrs T ML N 24,499 23,788 711
= 7,350
2 17,149
307 LI2H0IF 24,499 23,788 711
= 7,350
2 17,149
02 DIt 24,499 23,788 711
OZ2I03 ZeIX 22t 2 28| X
24,499,000 1% 24,499
= 7,350
2 17,149
COSN AN TR YR YN 20,000 20,000 0
= 14,000
= 3,000
2 3,000
307 2120l 20,000 20,000 0
= 14,000
= 3,000
2 3,000
02 QIAANBE 20,000 20,000 0
O =X NT2] SYN
20,000,000 17 4 20,000
= 14,000
= 3,000
2 3,000
Ary Hea 118,850 135,250 16,400
307 BI2H0IF 118,850 135,250 16,400
05 PIZteIEr2 72,950 21,250 51,700
ORI HEFY 50, 0002 %2550 2 12,750
O%2 SHEFY 40,0002 #2554 2 10,200
OF2Z M- =4 XA 2,000,000 %257 2 50,000
06 283 45,900 45,000 900
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O3z a2 Jtg 180,000& 2551 2~ 45,900
Z2E JAQAE XD EXXE 4,000 4,000 0
S 1,200
= 2,800
307 elztold 4,000 4,000 0
& 1,200
= 2,800
05 BIZtAE =S 4,000 0 4,000
OZZ2g JtAA XteIIEX X3
160,000 2504 A 4,000
S 1,200
= 2,800
dE2S MY & LS S2A ML 49,620 55,590 A5,970
ZZ A 36,000 36,000 0
307 2iz2tol A 36,000 36,000 0
04 QIZFHALE X 36,000 36,000 0
ORogosEa 50,0003 x60H 3,000
OLQode AL 33,000
—5, HAE2dY 5,500& *2,500H 13,750
—HAX 400,000& 20«65 & 4,800
—HEWHNH 70,0002 *15H 1,050
—Z2cdIE , BEIHE 2,500,000& 2,500
— I NEAA B 30,0002 154 450
—3d8= 5,000, 000& 5,000
—JIg3HA 2,000& *2,500& 5,000
—JIEt A2 Sl 450,000& 450
CI=SXNARTNRL WS 1,500 6,000 A4,500
203 ¥ =&l 1,500 3,000 A 1,500
03 AMH=THIFHI 1,500 3,000 A 1,500
OelAe &= & 2t 1,500,000 1,500
cel=X 22 Jl=& 12,120 13,590 A1,470
201 ety 6,120 7,440 ~ 1,320
01 AtR2teld] 5,520 6,840 1,320
OgRFA HMADE 7
92,0003 «5&5+128 5,520
02 33234l 600 600 0
OZ332=2LHAl 50,000& 123 600
202 044 6,000 6,150 2150
01 2L 6,000 6,150 A150
OS] 6,000, 000& 6,000
SAAE X 29 92,560 106,960 214,400
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el MAIAIE M%) 29 (e
5 o SIEN
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=209 g 92,560 82,560 10,000
201 Yer2g| 17,560 17,560 0
02 ZZ2Y| 17,560 17,560 0
OZZLILHIA 10,560
~TVAIE 2 50,0008 * 122 600
~®J1e2 700,0002 122 8,400
~-dae3 50,0002 * 122 600
—FXR3 30,0002 * 122 360
—ADSLAIE 2 50,0002 * 122 600
SEELNEL 1,000,000 %13 1,000
OBEIANRM2Y 500,002 *122 6,000
301 YR A2 75,000 65,000 10,000
12 JIEt2 A2 75,000 65,000 10,000
OstEEZNZ 500,000 *150% 75,000
MBS T (ABIST /LS - HEL0A) 43,300 500 42,800
= 2,953
2 30,347
e 43,300 500 42,800
= 12,953
2 30,347
AROESEBUHLEEANENS 750 500 250
= 188
2 562
301 YR A2 750 500 250
= 188
2 562
01 APEI2EE 453 750 500 250
OYROILEE NBLFAE X2
250,0002 *3% 750
= 188
2 562
EMTE B (oM BX2 X 42,550 0 42,550
= 12,765
2 29,785
01 YA 42,550 0 42,550
= 2,765
2 29,785
01 Al B X453 42,550 0 42,550
OBAMEE 98 (NS 2T
1,150,000 %37% 42,550
= 12,765
2 29,785
Ofd =X ZT(MIEX/2S - HEUCIA) 400,829 325,927 74,902
= 16,440
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| 82,575
= 85,192
i 216,622
&3 2tzte] 30,000 30,000 0
Hesla 23 30,000 30,000 0
307 gI2told 30,000 30,000 0
05 PIZHSIES 30,000 30,000 0
o0& Pe 2 30,000,000 174 4 30,000
HygosEed 64,400 28,500 35,900
= 7,200
& 9,600
= 47,600
EXER DR 8,800 7,600 1,200
301 LPB A 800 600 200
10 EAIAHIE A= 800 600 200
OQus&EIL BEa3 20,0003 x40 800
307 gI12tol& 8,000 7,000 1,000
05 2IRAE S 8,000 7,000 1,000
OGAENER Ans 200, 0002 *40% 8,000
e 2 &0t 1,200 900 300
301 et2a = 1,200 450 750
10 BAEI 243 1,200 450 750
(OF=0 NEE=Y [ R = 20,000& x30H »23] 1,200
JEHENHE HYX2 14,400 0 14,400
2 7,200
= 3,600
i 3,600
101 1244l 14,400 0 14,400
= 7,200
& 3,600
= 3,600
04 JIZtHIZ22HESE+ 14,400 0 14,400
OFASEOY AN &
1,200,000& x12& x1H 14,400
= 7,200
= 3,600
i 3,600
ClEZER HRLIEIYSAY 20,000 20,000 0
= 6,000
= 14,000
307 212t01& 20,000 20,000 0
& 6,000
= 14,000
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05 BIZtRE = 20,000 20,000 0
OGSNAER HRUEIZSAIY SIS
20,000,000& 170 & 20,000
= 6,000
= 14,000
AdTte 20,000 0 20,000
307 212t 20,000 0 20,000
05 eIzt 20,000 0 20,000
O0l& LTzl NAHE 2
20,000,000 *174 4 20,000
AH 2 38,380 41,940 A 3,560
& 6,250
i 32,130
&3 & ot 2,520 2,780 A 260
201 LBt d 1,820 1,980 A 160
03 A2 1,820 1,980 A 160
(@] ES 770,000 *1CH 770
O At 30,0003 *35H 1,050
301 Yurs 700 800 A100
10 AR 700 800 A 100
ond a3 20,0003 *35% 700
HESH A 12,500 12,500 0
= 6,250
= 6,250
307 QI2t0IA 12,500 12,500 0
= 6,250
= 6,250
02 eIzt 12,500 12,500 0
O 12,500, 000& *1JH 2~ 12,500
& 6,250
i 6,250
& Atz & 14,000 16,500 A 2,500
307 212t 14,000 16,500 22,500
02 eIzt 10,000 0 10,000
ol 10,000,000 %174 4 10,000
04 212t 4,000 16,500 A 12,500
oud 3,000,000& 13| 3,000
ORI 113l 20 K2
1,000, 000& *1JH & 1,000
423 29 Il 9,360 10, 160 800
201 gt 2,160 2,160 0
01 AtR 22 2,160 2,160 0
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HE: 018 2N SH(MSISX/2S - HEL0A)
Sl OfMEH ¥ of&Cl AEIE O EHAE (sl &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 Sl ko HRs2
OWAEERX 28 MEES F¥ 2,160,000& 2,160
202 Oidl 6,000 5,500 500
01 =W 6,000 5,500 500
OZFAH 6,000,000& 6,000
301 et2a = 1,200 1,000 200
10 BAEI 24 1,200 1,000 200
ORS o A BIIX ablRs
20,0003 20 *33| 1,200
HedASA 2,550 2,550 0
| 70
& 1,015
= 1,465
Ny, 4= IcHA o=l 100 100 0
| 70
& 15
2 15
301 YerEAD 100 100 0
| 70
& 15
2 15
01 ABIBEELHI 100 100 0
OJId . 8= 0 X2 Z 8 K& 100,000& 14 100
Il 70
& 15
= 15
NN HdslS0Y Ws 450 450 0
201 LetHH| 450 450 0
01 AFR22lH| 450 0 450
ONZgus 2ZAZ 300,000& 1 300
OULRS &40 50,0002 *10H 150
Ol HEESXNIHAUH2 LA 2,000 2,000 0
T 1,000
= 1,000
201 LBt A 2,000 0 2,000
= 1,000
2 1,000
03 SAI2 Y] 2,000 0 2,000
OIS . GIESSANSEXA 2,000,008 14 2,000
= 1,000
= 1,000
HLs 22XAICH 52,099 31,171 20,928
J| 20,793
= 10,431
= 20,875
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307 QI2t0IA 6,000 6,000 0
04 DIZHHALE X 6,000 6,000 0
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Il 60,312
= 8,616
= 17,232
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< 8,616
= 17,232
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Il 60,312
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= 35,000
OU2 BN HHS A S XA
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< 5,760
= 13,440
C2tEXENE S 22X 4,000 4,000 0
= 2,000
= 2,000
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= 137,362
02 Zeldl 82,855 0 82,855
Ot E HAUSER HY(HF,8I, 38,4
g Zel) 3,381,820, 0002 *2.45% 82,855
03 Al S0 14,982 0 14,982
OBtgE Havapd e
, 745,455,000 *0. 4% 14,982
PSEPO=SER L 85,000 93,000 8,000
& 20,000
= 65,000
307 QI2tol™ 85,000 93,000 A8,000
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= 65,000
02 QIZtBAE X 85,000 93,000 A8,000
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7| 19,080
=2 19,080
307 DI2+0| & 38,160 37,440 720
7l 19,080
=2 19,080
02 BItAAE X 38, 160 37,440 720
OFAFLHAIL HAGEX S AN X
19,080,000 *2 & 38, 160
7| 19,080
=2 19,080
HAdG S SE I 137,110 144,600 AT ,490
7l 68,555
[= 20,566
2 47,989
307 DI2+0| & 137,110 144,600 AT ,490
7| 68,555
[= 20,566
= 47,989
02 DIZHEAER 137,110 144,600 AT ,490
OXHAHALDSOIIHOI RS XA
137,110, 00024« 100 A 137,110
7l 68,555
(= 20,566
2 47,989
XNAHAEHAHNHAKS 29 3,000 3,000 0
7l 1,500
= 1,500
307 QI2+0| & 3,000 0 3,000
Il 1,500
= 1,500
02 DItAAE X 3,000 0 3,000
OXNAHAHENARS 2
3,000,000 %120 & 3,000
7l 1,500
= 1,500
HAUKZEM U 207 3,000 0 3,000
[= 3,000
307 QI2+0| & 3,000 0 3,000
[ 3,000
02 QI2tHAIEX 3,000 0 3,000
OFAEHXZEM 2 20D
3,000,000 100 A 3,000
[= 3,000
HAEGEE 29 34,080 0 34,080
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R -Pli=F 1,500,0002 * 128 18,000
—M5R3 200, 0002 * 122 2,400
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—20IRH 8 10,0002 * 128 1,320
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FOUHNE OFS ES (MBS Zx4) 1,180,091 858,997 321,094
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= 57,600
= 221,033
= 719,331
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= 182, 127
= 57,600
= 221,033
= 719,331
AEAHIE L OHES 2l 36,000 24,000 12,000
301 LeHE A 36,000 24,000 12,000
01 ASI2 SN 2512 36,000 24,000 12,000
O4EAE JHE st2Hl N
10,0002 +30% * 12 36,000
AEAHIE Mol 2 e 450 750 A300
301 LerEAz 450 750 A300
01 ASI2 R X253 450 750 300
O aH = 80t 50,0002 *3% 450
SEIIE 24 1R 10,000 10,000 0
301 LerE AR 10,000 10,000 0
10 BAHAIH| 2 4 10,000 10,000 0
OLF JIHEAH 5,000, 000! 23] 10,000
OfRI0IE BA 16,000 16,000 0
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04 SIIALR 16,000 16,000 0
SIEIESICE! 16,000,0002! *13| 16,000
OIS S0t X2 360,000 300,000 60,000
301 LerE Az 360,000 300,000 60,000
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